Simple Experiments in Optics

Simple Experiments in Optics

By

Roshan L. Aggarwal and Kambiz Alavi

Cambridge Scholars Publishing



Simple Experiments in Optics

By Roshan L. Aggarwal and Kambiz Alavi

This book first published 2019

Cambridge Scholars Publishing

Lady Stephenson Library, Newcastle upon Tyne, NE6 2PA, UK

British Library Cataloguing in Publication Data A catalogue record for this book is available from the British Library

Copyright © 2019 by Roshan L. Aggarwal and Kambiz Alavi

All rights for this book reserved. No part of this book may be reproduced, stored in a retrieval system, or transmitted, in any form or by any means, electronic, mechanical, photocopying, recording or otherwise, without the prior permission of the copyright owner.

ISBN (10): 1-5275-3551-7 ISBN (13): 978-1-5275-3551-0

Introduction to Optical Components

1.1 Focal length of a lens

$$\frac{1}{f_{\lambda}} = (n_{\lambda} - 1) \left[\frac{1}{R_{1}} - \frac{1}{R_{2}} + \frac{(n_{\lambda} - 1)t_{C}}{n_{\lambda}R_{1}R_{2}} \right]$$

$$n_{\lambda} \qquad \lambda R \qquad R$$

$$t$$

$$f_{\lambda B} = f_{\lambda} + \delta_{2}$$

$$\delta_{2} = -f_{\lambda}t_{C} \left(\frac{n_{\lambda} - 1}{n_{\lambda}R_{1}} \right)$$

$$f_{\lambda B} = f_{\lambda} \left[1 - t_{C} \left(\frac{n_{\lambda} - 1}{n_{\lambda}R_{1}} \right) \right]$$

Experiment 1.1:

 $f_{\lambda B}$

n λ



Figure 1.1

1.2 Focal length of a combination of two lenses

$$\frac{1}{F} = \frac{1}{f_1} + \frac{1}{f_2} - \frac{d}{f_1 f_2}$$

$$f \quad f \qquad d$$

$$F = \frac{f_1 f_2}{(f_1 + f_2) - d}$$

$$F \qquad d \quad f \quad f$$

 $f \qquad f$

d

$$F = \frac{f_{B2}}{\left(1 - \frac{d}{f_1}\right)}$$

$$f_{B2}$$

Experiment 1.2:





f_{B2}

1.3 Spherical aberration of a lens

$$h f$$

$$LSA = \frac{h^2}{8fn(n-1)} \times \left[\frac{n+2}{n-1}q^2 - 4(n+1)q + (3n+2)(n-1) + \frac{n^3}{n-1}\right]$$

$$n q$$

$$R + R$$

$$q = \frac{R_2 + R_1}{R_2 - R_1}$$

$$R \qquad R$$

q

R R

$$LSA = \frac{h^2}{8fn(n-1)} \left[(3n+2)(n-1) + \frac{n^3}{n-1} \right]$$

Experiment 1.3

п

h

d



Figure 1.3

h

h

1.4 Chromatic aberration of a lens

n CA $\frac{1}{f} = (n-1) \left[\frac{1}{R_1} - \frac{1}{R_2} \right]$ CA $\frac{CA}{f} = \frac{n_2 - n_1}{n_m - 1}$

	n	n	λ	λ
		п		λ
λ	λ			

Experiment 1.4:

CA

CA



